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The figures in the margin indicate full marks
Jor the questions

- Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
OISR e fordn
(@) What is gross national product?

s I8 Sewrm- e 2

(b) Mention one problem faced in national
income accounting.

W W TS PG & BT T S
il
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(c)

d

(e)

(g)

A9/352

(2)

Mention one limitation of Keynesian
theory.

@Y gd IB1 MRTS! SEY 90 |

What is aggregate supply function?

Y5 o T 2

Mention Say’s law of market.

5’3 I&R REAG Say 341

What is marginal propensity to
consume? :

T ol 2 2

Mention one limitation of Keynesian
consumption function.

RSO o1 TN 61 MRt Sred F41 |

What is marginal efficiency of
investment?

RRGER AR IRl R 2

( Continued )



(3)

(i) Define supermultiplier.
SR e iy

() What is accelerator?
o= o

2. Answer the following ‘questions : 2x5=10
ST SR e o

(@) What is circular flow of income?
A 5EE odr 2

(b) Define effective demand.
St o g i o

{c) Mention two technical attributes of
consumption function.
COI o 51 TR BT TCEy 940 |

(d) Mention two leakages of the multiplier.
QRFY o1 FafTe Sy 39

(e) Distinguish between gfoss investment
and net investment.
P Rivcme 9F vw RAaeR =1 14w
g w411
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(4)

3. Answer any four from the following
questions : 5x4=20

o ST R el BIRG Tad e <

(@) Explain the relationship between
national income and economic welfare.

W T HqEF GLARE I TSR ITAE
70 3

(b) Explain the product method of
computing national income.
AT S SR oo TRfSCor i1 A |

() -How did Keynes criticise the classical
theory of employment?
faR sikEe eehl @ [ S
e 2

(d) Explain the factors that influence
consumption function.
(SN T SRS 1 PRIZ I 7 |

(¢) What are the determinants of marginal
efficiency of capital? Explain.

TR AT Frfrrer ez & &2
1
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(5)

() Distinguish between  autonomous
investment and induced investment.

ey Rifce 9= Sgafte R ™=
“f1efg fAfa 341

4. Answer any four of the following questions :
10x4=40
o PR R G BifdeR e o '

(a) Distinguish between the following :
‘ 4+3+3=10
oS TAICTRE e+ foefy 3 -

(i) National income at market prices
and national income at factor cost
IHI NS I AW TF AN TS
G =W

(i) Net national product and net
domestic product
W% AT ST TF T T4 ST

(iij) Disposable income and personal
income
IR W I G IR

(b) Discuss the classical theory of
employment. 10

R SEIPre ©go! S 994 |
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()

(@)

(e)

A9/352

(6)

What is investment multiplier? Explain
the working of the multiplier. 3+7=10

R 8% &7 |63 I/ I 7|

(i) Discuss the relationship between
marginal efficiency of capital and
marginal efficiency of investment.

TR Afts el we R
AT IATFON WER TR SICADAl
0 :

(i) Define average propensity to invest
(API) and marginal propensity to
invest (MPI). 6+4=10

REER o 2r9e e REGER afks
AT A5 forn |

Explain the importance of measuring
national income. What are the
difficulties faced in calculating national
income in underdeveloped countries?
Discuss. 4+6=10

/R AW VAR GG AP I | TS (TS
T8 o W1 s B R PR TR T3
AN = ? I 990 |
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(7)

() State and explain Keynes’ psychological
law of consumption. What are the }
implications of this law? 2+4+4=10

QT TAERE Sogem RRGE I8 =
I R | 4% RRGR FRe wdnz &
2

* &
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